Preparation to the midterm exam #1
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Problem 
Fit an educational attainment function, regressing S on ASVABC, SM, SF, and ASVAB05. Perform an F test of the explanatory power of ASVAB06, using the results of this regression and that in Exercise 3.19. Verify that it leads to the same conclusion as a two-sided t test.
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. reg S ASVABC SM SF ASVABOS
_____________ e e

Model | 1205.74429 4 301.436072
Residual | 2121.25386 535 3.96496048
_____________ A
S | Coef. Std. Err. t P>|t| [95% Conf. Interval]
_____________ A
ASVABC | .0867549 .0123994 7.00 0.000 .0623975 .1111124
SM | .1662027 .0428576 3.88 0.000 .082013 .2503925
SF | .0871995 .0326857 2.67 0.008 .0229915 .1514075
ASVABOS5 | .0347195 .0121602 2.86 0.004 .0108319 .0586072
_cons | 4.570097 .5479377 8.34 0.000 3.493724 5.64647

. reg S SM SF ASVABC ASVABO5 ASVABO6
_____________ e e

Model | 1205.89733 5 241.179466
Residual | 2121.10082 534 3.97209891
S | Coef. Std. Err. t P>|t| [95% Conf. Interval]
_____________ A
SM | .1662462 .0428967 3.88 0.000 .0819792 .2505132
SF | .0873626 .0327256 2.67 0.008 .0230758 .1516493
ASVABC | .0871133 .0125441 6.94 0.000 .0624715 .1117551
ASVABOS5 | .0361292 .014132 2.56 0.011 .008368 .0638904
ASVABO6 | -.0024221 .0123393 -0.20 0.844 -.0266616 .0218174
_cons | 4.599803 .5689273 8.09 0.000 3.482193 5.717412
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